Circle
(z = h)’ + (= k)" =’
Graph is a circle with radius » and center (h. k).

Ellipse

(x—h)*  (y—k)

a? N b2 =1
Graph is an ellipse with center (A, k) with
vertices a units right/left from the center and

vertices b units up/down from the center.

Hyperbola
(z—h)" (w-k" _

a? b2 N
Graph is a hyperbola that opens left and right,
has a center at (h, k), vertices a units left/right
of center and asymptotes that pass through

: b
center with slope iE'

Hyperbola

(y—k)° (z—h)?
b2 B a?

Graph is a hyperbola that opens up and down,

has a center at (A, k), vertices b units up/down

from the center and asymptotes that pass

=1

through center with slope i?.
1

Parabola/Quadratic Function
v =ay’+by+c g(y) =ay* +by+c

The graph is a parabola that opens right if
a > 0 orleftif a < 0 and has a vertex at

(o(-22) =)



